2- J/ " @ x 6” Round Head Bolts

1 7/0
Provide 2 flat washers & locknuts for
guard rail connection shown on Std. 2340.

Holes for 1”0 x 4" Round Heod Bolts.

1'—6"

I (With slot or gpproved recess in head.)
’ with locknut and flat washer.
AN L—‘ y 7/8"” @ Holes in tubing and posts. Holes
N in tubing may be driled in the field.
N
PoT . y
| s N 3 1/2"
N =
NI - —— I
L , =TT :
N %z o N
AY - l - ;
| © - = “ ‘ 2~ 1/2"8 x 6" Round Head
t ‘ sy ey - -N— L = — — — | Bolts (With slot or approved
Rk 127 x 1=1" “ N ‘ recess in head.) with
" “ oo :Q, I locknut and Flat washer.
sl Tl X2 = P 5/8"0 Holes in tubing and
Slotted Holes (I—— ..F I N S | | post. Holes in tubing
may be drilled in the field.
BASE PLATE DETAIL o B i } ”
:_ —_——f 1
» 4 8" x 4" x 5/16" . I
R " Steel Tubi o ’
R - -1 oo e ﬂdih I rﬁh ——Base R 1" x 12" x 1"=1
.\\\ i | I 1 I [ 1
{ ‘ o T - [ 1 ‘
Tel= M 1 It |
2 N | |
\'L W \ N [ \
Wex25 — L W | .
4 x4 x /8 s |
/  Steel Tubing © i \ 2 c” 2%
/ | ' ~
7 T W
_na‘, ,‘V‘ :V [
* Slope —VV—T W T SECT/ON A—A
‘ N Without Slot With Siot
‘, N or Recess
b7 n l *L‘[ ™ Cut bottom end of VIEW A—A
h‘y m | | post to curb slope
YA IRERAL ey T on west side of bridge.
18" Fabric ||| 1% 1 \ é‘ait Side to;' bridge ) )
Brg. Pad SERNET ‘ é | e herzontan / 1/2°0 = 1/4"As Required
[ Sgl | L 34 | 58"
m ‘{Em % » Vs L7 i 2 l’}A . ——1 1,/8” max.
] L LP | yd / T e y —_— LN
41" 0 HS Trreoded o A N A N LTI o
Anchor Rods with hex ruts | & _} i L» ‘\
and lock washers, fpaxy Top of Deck Surface 4 3 s
grouted. (See Notes) L» RS
A NI
j— S—

\ _

|r7€nst incidental to "Steel Bridge Rail” !

SECTION AT RAIL POST

RI/E" %2102 xA_
Top & Bottom A\

316V <7p-

NZ=27z{

DETAIL OF 1/2"0 & 3/4°0
ROUND HEAD BOLTS

1/4" at rail splice
P 3 ,51/ / P

~
7/8"0 Holes in Tube

1"0 Holes in R
3/4"¢ Drain Hole

2—- 3/4"0 x 6" Button Hd. Machine Bolts
(with slot or approved recess in
~ head) with locknut & flat washer.

T

e

END _OF RAIL DETAILLS

mefﬁc side of rail

NOTES

Hollow structural steel tubing shall conform to the requirements or
ASTM designation A—500, Grade B, Structural Steel Tubing ond shall

meet the longitudinal CWN requirements of 15 . Ibs. at 0°F.

All other steel shapes and plates shall conform to the requirements of
AASHTO M—270 Grade 36 except posts shall conform to AASHTO M—-270,
Grade 50.

Bolts, cap screws and nuts shall conform to the requirements of
ASTM designation A-307 except that threoded rods, nuts ond washers
shall conform to AASHTO M—164.

All bolts, nuts, cap screws, washers and lock washers sholl be
galvanized in accordance with AASHTO M~232.

All posts, railing, rail splices and anchor rods shall be galvanized after
shop fabrication in accordance with AASHTO M~111 and ASTM A-385.
Galvanized rail shall not be painted.

Railing shall be in accordance with Section 509 of the Stondard
Specifications, except as noted, ond will be paoid for at the contract
unit price per foot for STEEL BRIDGE RAIL.

All field drilled holes shall be coated with an approved zinc rich
paint before erection.

Posts shall not be located closer than 1'-3" to an existing bridge
expansion joint or end of bridge.

STEEL BRIDGE RAIL expansion joint shall be provided between any
two (2) posts which span a bridge expansion joint. Bolts located at
expansion joint shall be provided with locknuts and shall be tightened only
to a point that will allow roiling movement.

Provide one 1/8” and two 1/16" steel shims for 25% of the posts.
shall be similar to baose plates in size and holes.

Expansion jfoint width shall be D" at 50° F ond shall be adjusted for
other temperatures according to Article 503.10(c) of the Stondord
Specifications.

The Contractor shall use the capsule or the adhesive cartridge type anchor
rods that have been previously tested and given a prior approval by the
Department. The Contractor shall install these anchor rods In pre—drilled
holes in accordance with the manufocturer's recommendotions and procedures.

The capsule or the adhesive coartridge sholl be o sealed gloss copsule or
a sealed glass adhesive cartridge containing premeasured amounts of the
adhesive chernical.

Shims

Nuts for 10 threaded onchor rods connecting the base plate to the

concrete shall be tightened to a snug fit and given an additional 1,/8 turn.

Lac/muf—\}g

FOR

INFORMATION ONLY

5/8"0 x 1 3/4" Cap Screw
with flat washer & 3/4°0
X pipe spacer, 1/2” long.

RAIL_SPLICE CONNECTION
AT EXPANSION JT.

7 1/8” x £ Slotted
Holes in tubing

P 3B X2 1/2" x A
Top & Bottom

P 38" x27/8 x A

E ach Side

5/8"¢ x 1 3/4” Cap Screw/

with flot washer

E]

I tubing

BOTTOM RAIL

3, / 40 _Holes in

P 38" x 6 7/8" x A

Each Side

5/8"0 x 1 3/4” Cap Screw
with flat washer

SECTIONS AT RAIL SPLICE

Stee/ Tub/ng
\

D at exp. jt. ot 50° F.

1

!

e Vo

‘%( v Locknut 2 1/2” Top Rail |6 | e |c | 47 | B tocknut
= 2 1/2” Bott. Rail 11/16" @ Holes
P | i 38
3/4°@ Holes in I 1
tubing
TOP RAIL

PLAN—-BOTT. SPLICE R
TYPICAL

SPLICE DIMENSIONS
T £
0 A 8 [ 2 1/2"
= =4 2 1727 1-a" 2" Ve 3 1/2" |
>4"=6 1/2° | 3 3/4"| 2-0" 212" 5127 9"
>6 1/2°<9” 5" 24" 3127 61/27 77"
9" =<13” 7" 210" ¢4 1/2"| 8 1/2" —
Rail_Splice /4" 7"-8" 2" 4"
= Jotal t at exp Joint as shown on the design plons.
TYPE 2399

STEEL BRIDGE RAIL

CURB MOUNTED

‘.A

D C B 0
e i F.AP TOTAL | SHEET |
FILE NAME = USER NAME = pyrzenowskirb DESIGNED - REVISED - BRIDGE RAIL CURB MOUNTED - TRUSS REHABILITATION (SN 016-0427) | RTE. SECTION COUNTY  |SHEETS .
ci\pw_work \pwidot\pyr zonowskirb\d@372043\DI15314-sht-plan.dgn DRAWN - REVISED - STATE OF ILLINOIS IL 83 (KINGERY HWY) OVER CAL SAG CHANNEL 344 545B-5-BP COOK 24 1
PLOT SCALE = 102.0000 ' / in. CHECKED - REVISED - DEPARTMIENT OF TRANSPORTATION 016-0427 CONTRACT NO. 60X63
Default PLOT DATE = 2/7/2014 DATE - REVISED - SCALE: | SHEET OF SHEETS| STA. TO STA. [ILLINOIS|FED. AID PROJECT

D115314-sht-plan.dan 2/7/2014 8:27:48 AM User=pvrzanowskirb




